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1 EHE EHE £y IEHT HARE1TH 0.85 0.95 0.95 0.95 0.95
2 BWE THA tyIiEE HRE2TH 0.85 0.95 0.95 0.95 0.95
IEWER BEWA tyIiEH HRESTH 0.30 0.55 0.55 0.85 0.85
4 BHE FTHEE o HREATH 0.85 0.95 0.95 0.95 0.95
5 BHER EWA Lty iR HRESTH 0.85 0.95 0.95 0.95 0.95
6 BWE THWA tyIiEHE HRE6TH 0.85 0.95 0.95 0.95 0.95
1 EEE BEWA Ty IR HARE7TTH 0.85 0.95 0.95 0.95 0.95
8 BWE TWA tyIiEHE EEHEE 0.30 0.55 0.55 0.85 0.85
9 BWER EWA tyIiEHE RArigie 0.30 0.55 0.55 0.85 0.85
10 BHE FHE £~z RER 0.30 0.55 0.55 0.85 0.85
11EHE FHE ty R TEHE 0.30 0.55 0.55 0.85 0.85
12ERE ZTHEE £y R Wik 0.30 0.55 0.55 0.85 0.85
13 BEWE FHE ty R EIiR 0.30 0.55 0.55 0.85 0.85
14/ ERE FTHE £y EE1TH 0.85 0.95 0.95 0.95 0.95
15 BME FHE ty Iz EE2TH 0.85 0.95 0.95 0.95 0.95
16 BHE FHEE 4z HTHE 0.30 0.55 0.55 0.85 0.85
17 BHE EHE £y R ELU1TH 0.85 0.95 0.95 0.95 0.95
18| BHE FHEE £~ R0 EL2TH 0.85 0.95 0.95 0.95 0.95
19 BHIR EHEHE tyEHT =IL1TH 0.85 0.95 0.95 0.95 0.95
20 BHIE WA £ IEE E=IWL2TH 0.65 0.75 0.80 0.85 0.85
21 ERE EHER £y IR =W3TH 0.65 0.75 0.80 0.85 0.85
22 BHIE EWA tyIiEE =IL4TH 0.65 0.75 0.80 0.85 0.85
23 EHE THE £y IR =W5TH 0.65 0.75 0.80 0.85 0.85
24 BHIE =WA £y IEE HRE Mm1TH 0.30 0.55 0.55 0.85 0.85
25 BE EIWAL Lo IaHT HRE Mm2TH 0.30 0.55 0.55 0.85 0.85




